FINPLAN

Hands-on 5: FINPLAN Results Interpretation

Useful references:

1) Video Tutorials
2) FINPLAN Google Group

Learning outcomes

By the end of this exercise, you will be able to:
1) Run a complete model using FINPLAN.

2) Understand the outputs of FINPLAN:
a) Operating Account
b) Cash Inflows & Outflows
c) Balance Sheet

d) Shareholder’s Return

3) Understand selected financial ratios:
a) Leverage
b) Exchange Risk Ratio
c) Debt Service Coverage

4) Restore a case study file.

Activity 1

Run a complete model using FINPLAN

Now that you have entered all data required for the financial analysis of the coal power plant, we
can run the model.

Try it:

1. Click on the “Calculate” button on the left menu pane. FINPLAN will calculate your model
automatically. Once the calculation is done, you will see the screen below.
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https://www.youtube.com/playlist?list=PLhLN8V8JSUnKjllksFhUMCSCrw_641ZFA
https://groups.google.com/g/finplan
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Results
Name of the case study Hands-On Case Study
M Manage case studies Export all result tables to excel = ¥
Us Results
1.1.  Operating account in local currency m ih
Case data v
B 1.2.  Cash inflows and outflows in local currency HH il
¥ Plantdata -
1.3.  Balance sheet in local currency HH il
& Financial manager
1.4.  Shareholders’ return in local currency HH il
B3 calculate
1.5 Financial ratios HH i
ill Intermediate results
1.6.  Project finance analysis in local currency HH i
il Results 1

2. FINPLAN provides two sets of results, one is “Intermediate results” and other one is
“Results”. You can see this in the left menu pane.

EEN N N

13 Manage case studies
Case data
Plant data

’
(5] Financial manager
[}

Calculate

il Intermediate results

il Results

3. "Intermediate results” can be useful to understand the values used to calculate the final
“Results”. However, we will first explain the final “Results”. If you click the button “Results”,
the following screen appears. It has six items:

“Operating account in local currency”,

“Cash inflows and outflows in local currency”,

“Balance sheet in local currency”,

“Shareholders’ return in local currency”,

“Financial ratios”, and

—

S e A

"Project finance analysis in local currency”.

We will explain each of these items one by one in the following sections.
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Results

“ “ Name of the case study Hands-On Case Study

A Manage case studies Export all result tables to excel &
s Results
La e e
1.1 Operating account in local currency HH
Case data e
B 1.2.  Cash inflows and outflows in local currency HH
¥ Plant data -
1.3 Balance sheet in local currency L]
& Financial manager
1.4.  Shareholders' return in local currency HH
E1 calculate
1.5.  Financial ratios EH
il1 Intermediate results
1.6.  Project finance analysis in local currency m
ill Results 1

4. Have a look at Activity 4 in case your results don't match what you see in the following
screenshots.

Activity 2a

Understand the Outputs of FINPLAN - Operating Account

The operating account summarises the yearly income and expenses and shows whether the
project is profitable and if dividends can be paid out to its shareholders. This is explained in more
detail in the lectures. Let's look at the operating account of our Malaysian coal power plant.

Try it:

1. Click on “"Operating account in local currency”. The following table will appear.

Operating account in local currency < > | ¥
Million 2012 2013 2014 2015 2016 2017 2018
Income
Fixed income + other income 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Total sales revenues 0.000 0.000 0.000 0.000 0.000 1,064571 1,107.154
iz T 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Total income 0.000 0.000 0.000 0.000 0.000 1,064571 1,107.154
Expenditure
General expenses 0.000 0.000 0.000 0.000 0.000 0.000 0.000
BT RN EIE S 0.000 0.000 0000 0.000 0000 0,000 0.000
Fuel costs 0.000 0.000 0.000 0.000 0.000 638524 664.257
F e R . 0000 n.ono 0000 n.oan 0.000 150573 15A.59A

2. You will see that you can export your results to Excel with the button at the top right.
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3. You will also see that you can swap from a “Table” layout to a “Chart” layout.

\ download this as an image, too.
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4. We will look at the “Table” option in this exercise. This table summarises the yearly income
and expenses due to the operation of the project and shows whether the firm is making a
profit from its operation. It should be noted that all results are in million Ringgit, and at

5. The top five rows present the income by year. The only income from this project are
revenues from electricity sales. As its operation starts in the year 2017, so do the sales of
electricity. This is reported in the third row at the top. The amount of electricity to be sold
remains constant. However, as prices increase over time due to inflation, revenues increase

too.

Million 2012

Income

Fixed income + other income 0.000

Total sales revenues 0.000

Interest earned 0.000

Total income 0.000

2013

0.000

0.000

0.000

0.000

2014

0.000

0.000

0.000

0.000

2015

0.000

0.000

0.000

0.000

2016 2017 2018
0.000 0.000 0.000
C.CDCI 1.064.571 1,107.154 I
0.000 0.000 0.000
C.CIJCI 1.064.571 1,107.154 I

6. Let us focus on the expenditure block now. The plant has only two operational expenses:
fuel costs and O&M costs. Other expenses are financing-related including interest

payment, foreign exchange loss and depreciation.
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Million 2012 2013 2014 2015 2016 2017 2018
Expenditure
General expenses 0.000 0.000 0.000 0.000 0.000 0.000 0000
e AT [ RS 0.000 0.000 0.000 0.000 0.000 0.000 0000
Fuel coste 0.000 0.000 0000 0.000 0.000 538.524 66425
D&M costs 0.000 0.000 0.000 0.000 0.000 150.573 156.596
Interest paid 0.000 0.000 15.267 50.025 92.992 119.776 96,685
Foreign exchange loss 0.000 0.000 1.939 7.798 15.640 19.493 18150
I Decommissioning expenses I 0.000 0000 0.000 0.000 0.000 I 0.000 0.000 I
Tarrier 0.000 0.000 0.000 0.000 0.000 137.422 137422
Royalty 0.000 0.000 0.000 0.000 0.000 0.000 0000
[emme = 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Total expenses 0.000 0.000 17.206 57.823 108.631 1,065.788 107311
Profit/loss 0.000 0.000 17.206 57.823 108.631 -1.217 24043
Dividends 0.000 0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 -17.206 57.823 108.631 -1.217 34043

Retained earnings

7. Foreign exchange loss occurs due to currency depreciation. For example, suppose in the

year 2014 you borrowed 100 US Dollars and the exchange rate was 3.5 Ringgit per Dollar.
Converting it into local currency, you would have received 350 Ringgit. You must return
those 100 Dollars in the year 2016. By that time the Ringgit depreciates, and the exchange
rate is now 4 Ringgits per Dollar. So, you need 400 Ringgit to repay 100 dollars. Therefore,
in 2014 you received 350 Ringgit, but when you return you need 400 Ringgit. 400 minus
350 is 50 Ringgits, and that is the foreign exchange loss. In our case, we have assumed
that the Malaysian Ringgit is stable, so the foreign exchange loss is not substantial.

8. Depreciation expenses are 137.4 million Ringgit every year, starting from the year 2017,

when the plant starts to operate, and goes on for 20 years (i.e., the depreciation period we
defined).

9. Looking further down in the table, we see that total expenses are calculated and reported

in the row called “Total Expenses”.

10. Subtracting total expenses from the total revenue in a particular year results in the net

income. It is reported here as “Profit or Loss” — profit when it is positive, and loss when it
is negative (depicted by red brackets in Excel in subsequent screenshots). You may notice
that the plant makes losses till the year 2017, and thereafter, there is a profit. The project
needs to pay taxes only when there is a profit. However, if you notice carefully, it started
paying taxes only from the year 2021, although profits start from 2018. This is due to
selecting the tax loss carried forward provision when defining our case.
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Tax Loss Carried Forward

1. We will now look at taxes in more detail. Download the table and open it in Excel.

Milion” 20147 20157 2016”7 20177 2018”7 2019”7 20207 202" 20220”20237

r

2024" 20257 20267 20277 20287 2029" 2030”7 2031”2«
Income
Fixed incame + other incame | 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 000 0.00 0.00 0.00
Total sales revenues 000 0.00 000 106457 110715 115144 119750 124540 129521 134702 140090 145694 151522 157583 163886 170441 177259 184349 1917
Interest eamed 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Tatal income: 000 0.00 000 106457 110715 115144 119750 124540 129521 134702 140090 145694 151522 157583 163686 170441 177259 184349 1917
Expenditure
General expenses 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Expenditure on purchases 000 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 000 000 0.00 0.00
Fusl costs 000 0.00 000 63852 6RA26 69103 TIBBT TATES 77793 80934 B4195 BY588 91118 94700 98610 102584 106718 111019 1154
D8M costs 0.00 0.00 000 15057 15660 16286 169.37 17615 183.20 190.52 198.14 206.07 21431 22288 23180 24107 25072 26074 2711
Interest paid 1527 5003 9299 11978 9669 8866 7930  6R47 6266 5858 5446 5016 4598 4220 3885 3505 4006 3938 206
Forsign exchange loss 1.94 780 1564 1949 1815 1674 1525 1368 1202 1032 865 7.05 5.44 373 1.92 0.00 0.00 0.00 0.00
Decommissioning expenses | 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Dapreciation 0.00 0.00 000 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 1374
Royalty 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Income tax 0.00 0.00 0.00 0.00 0.00 0.00 000 2075 3048 3521 4007 4509 5022 5542 6069 6603 6908 7394 832
Total expenses 1721 5782 10863 106579 107311 109671 112022 116431 120376 124139 128069 132167 136455 140956 145678 150632 156536 162168 1667
Profitfloss (721} (57.82) (108.63) (1.22) 34.04 5473 7728  B1.08 9145 10563 12021 13527 15067 16627 18208 198.09 20723 22181 2498
Dividends 0.00 0.00 0.00 0.00 0.00 0.00 000 6226 9145 10563 12021 13527 15067 166.27 18208 198.09 12500 12500 1250
Retained samings (7T21) (5782) (10B63) (122) 3404 B4T3 7728 1882 000 0.00 0.00 0.00 0.00 0.00 0.00 000 8223 9681 143
Expenses before tax 1721 5782 10863 106579 107311 109671 112022 114366 117328 120618 124062 127658 131433 135414 139509 144029 149628 154774 1584
Accumulated loss " (184 88)
Taxable income (15083) (96.10) (18.82) 83.01 12193 14084 160.28 180.35 20089 22169 24277 26413 27631 29675 333,
Tax 2075286 304833 3521085 4006974 45 D8ET2 50 22218 5542259 6069175 6603152 6907801 73 93801 83 26!

2. Looking at taxes, we have added a couple of rows at the bottom to show the tax
calculations.

Looking at the row Profit/loss we can see that from the year 2014 till 2017 the plant incurs
losses. In 2014 the loss was 17.2 million, in 2015 the loss was 57.8 million, and so on. Thus,
till the year 2017, the accumulated loss of the firm was 184.9 million Ringgit.

By selecting the tax loss carry forward option (as selected under Case data — Taxation data),
this accumulated loss can be carried forward to the successive years, to calculate the
taxable income. In 2018, expenses before tax were 1073.1 million. When subtracted from
the total income, we get net income as 34 million, which is positive, but if the accumulated
loss is carried forward, then the firm's taxable income is minus 184.9 plus 34, which is a
loss of 150.8 million. So, there is no need to pay taxes. Similarly, in 2019, the net income
before tax is 54.7 million, but when the accumulated loss of 150.8 million from the previous
year is added, the firm's taxable income is minus 96.1 million. Again, there is no need to
pay taxes.

Continuing this way, in 2021, for the first time the firm makes a positive taxable income of
83 million, so the firm needs to pay taxes. Applying a tax rate of 25%, taxes in that year are
20.8 million. From then onwards, the taxable income is positive every year and the firm
needs to pay taxes.

3.

Dividends and Retained Earnings

1. Now have a closer look at the same table focussing on dividends and retained earnings.
Look at the screenshot below.
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Milion| 20147 20157 20167  2017" 20187 2019”7 20207 20247 022" 20237 2024”  2025" 2026”7 20077 202" 2029”7 20307 20317 &

Income
Fixed income + other income | 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Total sales revenues 0.00 0.00 000 106457 110715 115144 119750 124540 129521 134702 140090 145694 151522 157583 163586 170441 177259 184349 1917
Interest earned 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Total income 0.00 0.00 0.00 1,064.57 110715 115144 119750 124540 129521 134702 140090 145694 151522 157583 163886 170441 177253 184343 1917
Expenditure
General expenses 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Expenditure on purchases 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Fuel costs 0.00 0.00 0.00 638.52 66426 69103 71887 74785 77798 809.34 84195 87588 91118 947.90 986.10 1,025.84 1.067.18 1,110.19 1,154,
Q&M costs 0.00 0.00 0.00 18057 15660 162.86 169.37 17615 183.20 190.52 19814 206.07 214.31 22288 23180 24107 25072 260.74 2711
Interest paid 1527 50.03 9299 119.78 96.69 88.66 79.30 68.47 62.66 58.58 54 46 50.16 45.98 4220 38.85 3595 40.96 39.38 206!
Foreign exchange loss 1.94 7.80 15.64 19.49 18.15 16.74 15.25 13.68 12.02 10.32 8.65 7.05 544 3.73 1.92 0.00 0.00 0.00 0.00
Decommissioning expenses 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Depreciation 0.00 0.00 0.00 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 13742 1374
Royalty 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Income tax 0.00 0.00 0.00 0.00 0.00 0.00 0.00 2075 3048 3521 40.07 4509 50.22 5642 60.69 66.03 69.08 7394 83.20
Total expenses 1721 57.82 10863 1.06579 107311 109671 112022 116431 120376 124139 128069 132167 136455 140956 145678 150632 156536 162168 1667
Profit/loss (1721 &EZI (108.63) __(1.22) 34.% 54,73 77.28 81.08 91.45 10563 12021 13527 150.67 16627 18208 19509 20723 22181 2498
l ividends 000 0.00 0.00 0.00 0.00 0.00 0.00 6226 9145 10563 12021 13527 15067 16627 18208 19809 12500 12500 1251
etained eamings (17.21)  (57.82) (108.63) (1.22) 34.04 54.73 77.28 18.82 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 82.23 96.81 124.
!
Expenses before tax 172 5782 10863 1,06579 107311 109671 112022 114356 117328 120618 124062 127658 131433 135414 139609 144029 149628 154774 1584
Accumulated loss 4 (184.88)
Taxable income (150.83) (96.10) (18.82) 83.01 12193 14084 16028 18035 20089 22169 24277 26413 27631 29575 333
Tax 20.75286 304833 3521085 40.06974 4508872 5022218 5542259 6069175 66.03152 69.07801 73.93801 83.26!

2. The net income (i.e., Profit/loss) is divided into two: dividends, which will be paid to the
shareholders, and the remaining amount is kept within the project as retained earnings.

3. Dividends can be paid only when there is no accumulated loss any longer, i.e., when also
taxes need to be paid. Therefore, the dividend payments start from 2021. As the taxable
income is negative until 2020, no dividend will be paid, and the entire profit is kept in the
project as retained earnings.

4. But how are dividends calculated in FINPLAN? You may remember, you have used the
dividend rate as 50% in the equity screen. Dividends in a particular year are limited to a
maximum of 50% of the equity.

5. You can check this. Unit the year 2028, equity is 650 million, therefore 50% of the equity,
is 325 million. Up to 2028, profit is always less than 325 million, so the entire profit is
distributed as dividends. In 2030, equity is reduced to 250 million because part of the
equity is returned in 2029 and 2030 (see cash-flow statement). 50% of the equity is 125
million. However, the profit is higher than this amount in 2030, so only 125 million is
distributed as dividend, and the remaining amount is kept within the project as retained
earnings.

Well done! You now know how to interpret the operating account.
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Activity 2b

Understand the outputs of FINPLAN - Cash Inflows and Outflows

We now move to the next item, cash inflows and outflows.

Try it:

1. Click on “Cash inflows and outflows in local currency”. You will see this page.

Cash inflows and outflows in local currency < > | ¥
Million 2012 2013 2014 2015 2016 2017 2018
Cash available in short term deposits (at end of previ... 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Inflows
Revenues 0.000 0,000 0,000 0.000 0.000 1,064571 1,107.154
Tz Tmies 0.000 0.000 0,000 0.000 0.000 0.000 0.000
Sales 0.000 0.000 0.000 0.000 0.000 1,064,571 1,107.134
Others 0.000 0.000 0,000 0.000 0.000 0.000 0.000
Interest earned 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Mew equity 0.000 100.000 150,000 200.000 200.000 0.000 0.000
Bonds issue 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Loans drawdowns 0000 193020 587.578 791271 300502 0.000 0.000
Stand-hur fariline 0.000 96479 148727 156711 149.807 0.000 0.000

2.

The table shows all sources of cash coming into the project account in a certain year and

cash flowing out as expenses. Clicking at the top left corner, this table can be exported to
Excel as well. Here, the Excel table is used for calculations.

r
Million

Cash available in short term
deposits (at end of previous year)
Inflows

Revenues

Fixed revenues

Sales

Others

Interest earned

New equity

Bonds issue

Loans drawdowns

Stand-by facility

Total inflows

Flow from short term deposits
Total cash available

Outflows

Investment

Q&M + decommissioning cost
Fuel expenses

Expenditure on purchases
General expenses

Interest paid

Repayments: loans and bonds
Repayments: stand-by facility
Equity repayment

Tavae & raualtise

CCG 2021

20127
0.00

0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00

0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
nnn

2013”7
0.00

0.00
0.00
0.00
0.00
0.00
100.00
0.00
193 92
96.48
390.40
0.00
390 40

361.48
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
nnn

2014”7 20157
000 0.00
000 000
000 000
000 000
000 0.00
000 0.00

15000 200.00
000 000
58758 79127
149.73  156.71
88730 1,147.98
000 000
88730 114798
804.04 1,002.89
000 0.00
000 000
000 000
000 0.00
1527 50.03
367 1484
000 000
000 000
nnn nnn

20167 20177 2018”7 2019”7 2020" 2021”7 2022”2023
000 000 000 000 000 000 000 000
000 106457 110715 115144 1719750 124540 129621 134702
000 000 000 000 000 000 000 000
000 106457 110715 115144 119750 124540 129521 134702
000 000 000 000 000 000 000 000
000 000 000 000 000 000 000 000
20000 000 000 000 000 000 000 000
000 000 000 000 000 000 000 000
39959 000 000 000 000 000 000 000
14981 000 000 000 000 910 3266 2966
74940 1,06457 110715 115144 119750 125449 1,327.88 1376.69
000 000 000 000 000 000 000 000
74940 106457 110715 115144 119750 125449 132788 137669
56004 000 000 000 000 000 000 000
000 15057 15660 16286 16937 17615 18320 190.52
000 63852 66426 69103 71387 74785 77798 80934
000 000 000 000 000 000 000 000
000 000 000 000 000 000 000 000
9299 11978 9669 8866 7930 6847 6266 5858
2997 15370 15962 16580 17226 179.02 18211 177.41
000 22187 3000 4309 4768 000 000 000
000 000 000 000 000 000 000 000
nnn nnn nnn nnn nnn m Te aan A AWM

r

204" 2025”7 2026" 2027”7 2028" 2029”7
000 000 000 000 000 000 00
140090 145694 151622 167563 163886 170441 1772
000 000 000 000 000 000 00
140090 145694 151622 157563 163886 170441 1772
000 000 000 000 000 000 00
000 000 000 000 000 000 00
000 000 000 000 000 000 00
000 000 000 000 000 000 00
000 000 000 000 000 000 00
2267 2383 3349 4362 6426 6258 00
142368 148077 154670 1,619.45 169312 1,766.99 1,772
000 000 000 000 000 000 00
142358 148077 154570 161945 169312 176699 177z
000 000 000 000 000 000 00
19814 20607 21431 22288 23180 24107 250,
B4195 87583 91113 947.90 98610 1,02584 1,067
000 000 000 000 000 000 00
000 000 000 000 000 000 00
5446 5016 4698 4220 3885 3595 40!
16875 16831 17635 18477 19360 000 0.0
000 000 000 000 000 000  19(
000 000 000 000 000 20000 200
An N7 AR NQ En 929 RR A2 RN RO RR N2 RO
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Repayments: stand-by facility

Equity repayment
Taxes & royalties
Dividend

Flow to shortterm deposits

Total outlows

Cash available (VAT)

7.

The top part shows cash “Inflows” by sources. During the construction years, the sources
of cash include equity, loans and the stand-by-facility. The company borrows from export
credit agency and uses as well as a project loan. However, they are added up and reported
as "Loans drawdowns”. This money will be spent to pay the bill of the plant construction.
There is a shortage of funds during the construction years; therefore, the model withdraws
from the stand-by-facility to meet the expenses.

From 2017, the only cash inflows are the revenues. However, between 2021 and 2029, the
stand-by-facility is used again to meet a short fall.

Let us now look at the lower part, which presents the cash “Outflows”, between 2013 and
2016, the major expenses are construction related. Other expenses are interest payments
and loan repayments. From 2017, outflows include operating expenses, such as fuel and
financing expenses, including interest payments and loan repayments.

In the last row, cash outflows for VAT payments and cash inflows of VAT reimbursements
are reported. VAT repayment is reported in negative terms as minus 219.8 million Ringgit
in 2017, which is used to repay the stand-by facility, that paid the VAT.

Million " 2012" 20137 2014" 2015" 2016" 2017" 2018" 2018 2020" 2021" 2022" 20237 2024" 2025”7 2026" 2027"
0.00 0.00 0.00 000 0.00 245.20 4539 5789 000 0.00 0.00 000 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 000 0.00 0.00 000 0.00 19.73 2765 3258 37.63 4278 48.03 5340 5894
0.00 0.00 0.00 000 0.00 0.00 000 0.00 59.18 8294 97.73 11289 12835 14409 16021 176.81
0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0.00 36148 81912 105775 68633 Siniies 1710715 115144 120505 127332 132788 137660 142358 148077 154870 161945
0.00 28.92 64.32 80.23 46.40 1088 |  (0.00) 0.00 0.00 (0.00) 0.00 0.00 0.00 (0.00) 0.00 (0.00)

From the year 2033 onwards, large amounts of cash are deposited as short-term deposit,
as shown in the topmost row. However, this is not a good use of cash, as the short-term
deposit provides a low interest.

Therefore, we can conclude that this is not a good financial plan. A better financial plan
could have been developed, e.g., by repaying equity or releasing more money as dividends
to shareholders.

Mmilion| 20297 20307 201" 2032"  2033" 2034" 203s" 2036”

20377 2038"  2039"  2040"  2041"  2042" 20437 20a4” 2045”2046
Cash available in short term
deposits (at end of previous year) 000 000 000 000 || 415 29542 61031 94689 130730 165834 203483 243503 286925 332987 352133 434513 490282 5,49504'
Inflows
Revenues 170441 177259 1384349 191723 199392 207368 215663 224269 233261 242591 252295 262367 272882 283797 295149 306955 319233 332003
Fixed revenues 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000
Sales 170441 177259 184349 191723 199392 207368 215663 224269 233261 242591 252295 262367 272882 283797 295149 306955 319233 332003
Others 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000
Interest eamed 000 000 000 000 012 889 1831 2841 3922 4975 6104 7314 8608 9990 11464 13035 14708 16488
New equity 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000
Bonds issue 000 000 000 000 000 000 000 000 000 000 000 000 000 0O0 000 000 000 000
Loans drawdowns 000 000 000 000 000 000 000 000 000 000 000 000 000 0O0 000 000 000 000
Stand-by facility 6258 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000
Total inflows 1766.99 1,772.59 1,843.49 1,917.23 1,994.05 2,082.57 2,174.94 2,271.30 2,371.83 247566 2,563.99 2697.01 2,814.90 2,937.87 3,066.13 3,199.91 3,339.42 3.484.91
Flow from short term deposits 000 000 000 000 000 000 000 000 000 000 000 000 000 0O0 000 000 000 000
Total cash available 1766.99 1,772.59 1,843.49 1,917.23 1,994.05 2,082.57 2,174.94 2,271.30 2,371.83 247566 2,563.99 2697.01 2,814.90 2,937.87 3,066.13 3,199.91 3,339.42 3.484.91
Qutflows
Investment 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000
O&M + decommissioning cost | 24107 25072 26074 27117 28202 29330 30503 31723 32992 34312 35685 37112 38596 40140 41746 43416 45152 46958
Fuel expenses 1,026.84 1,067.18 1,110.19 1,154.93 1,201.48 1,249.89 1,300.27 1,352.67 1407.18 1463.89 1,522.88 1584.25 1,648.10 1,714.52 1,783.61 1,855.49 1,930.27 2,008.06
Expenditure on purchases 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000 000
General expenses 000 000 000 000 000 000 000 000 000 000 000 000 000 0O0 000 000 000 000
Interest paid 3595 4096 3938 2065 000 000 000 000 000 000 000 000 000 000 000 000 000  0.00
Renavments: lnana and hands nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn nnn

Well done! You now know how to interpret cash inflows & outflows.
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Activity 2c¢

Understand the outputs of FINPLAN - Balance Sheet

Next, we will have a closer look at the “Balance sheet in local currency”. It is explained in more
depths in the lectures. The balance sheet provides a snapshot of the financial health of a project
or company by reporting the sum over the years of what it owns and what it owes at a certain

point of time.

Try it:

1. Click on “Balance sheet in local currency”. You will see the below.

Balance Sheet in local currency < > ¥
Million 2012 2013 2014 2015 2016 2017 2018

Aszets

Gross fixed assets 0.000 0000 0,000 0.000 0.000 2,748.447 2748447

Less: accumulated depreciation 0.000 0.000 0.000 0.000 0.000 137422 274,845

Less: accumulated consumer contribution 0.000 0.000 0.000 0.000 0.000 0.000 0.000

Net Fixed Assets 0.000 0.000 0.000 0.000 0.000 2,611.024 2473602

Work In Progress 0.000 361.480 1,165,522 2168412 2748447 0.000 0.000

Receivables 0.000 28.918 93.242 219.876 0.000 0.000

Short term deposits 0.000 0.000 0.000 0.000 0.000 0.000 0.000

Total 0.000 390.399 1,258,764 2341.884 2,968.323 2,611.024

Equity and liabilities

- nnan 100 AN 350NN ASN NN A50 NN /5N NAN A50 AN

2. What a company owns is called assets, reported in the upper half of the table. What it
owes is called liabilities, reported in the lower half of the table. Again, by clicking at the

top right corner, we can export this table to Excel.

Milion” 20127 2013”7 2014”7 20157

Assets

Gross fixed assets 0.00 0.00

Less: accumulated depreciation 0.00 0.00

Less: accumulated consumer contribution 0.00 0.00

Net Fixed Assets 0.00 0.00

Work In Progress 0.00 36148
Receivables 0.00 2892
Short term deposits 0.00 0.00

Total 0.00 390.40
Equity and liabilities

Equity 0.00 100.00
Retained Earnings 0.00 0.00

Bonds Outstanding 0.00 0.00

Met Loans Outstanding 0.00 190.28
Consumer Deposits + Decommissioning Reseve  0.00 0.00

Current Maturity 0.00 100.11
Total 0.00 39040
CCG 2021

(000) 000
000 000
000 000
(000) 000

116552 2,168 41
9324 17347
000 000

1,258.76 2,341.88

250.00  450.00

(17.21) (75.03)
000 0.00
76508 1534 32
000 000

26090 43259
126876 234188

20167 20177 2018” 20197 20207 2021”7
000 274345 274845
000 13742 27484 41227 54969 68T 11
0.00 0.00 000 000 0.00 0.00
000 261102 247360 233618 2.198.76 2.061.34
274845 000 000 000 0.00 0.00
21988  (000) (000) (000) (000) (000
0.00 0.00 000 0.0 0.00 0.00
2968.32 2,611.02 2473.60 2,336.18 2,198.76 2,061.34
650.00 650.00 650.00 650.00 650.00 650.00
[183.66) (184.88) (150.83) (36.10) (18.82) 0.00
0.00 0.00 000 0.0 0.00 0.00
179708 165701 150943 135396 119026 102186
0.00 0.00 000 000 0.00 0.00
70490 4BRBY 46501 42832 37733 38948
296832 261102 247360 233618 219876 206134

192391

1,923

192391

2022" 20237

82453 96196

650.00  650.00

0.00 0.00
0.00 0.00
85642 697 91
0.00 0.00
41749 43858

2024”7 2025”7

000 000 000 000
000 000 000 000
(000) (0.00) (000) (000)
000 000 000 000

650.00  650.00

0.00 0.00
0.00 0.00
53826 369.04
0.00 0.00

46081 49261

20267 20277 20

274845 274845 274345 274845 2TAGAS 274845 274845 274845 274845 27484
109938 123680 137422 151165 16490
000 000 000
178649 164907 151165 137422 123680 10993
000 000 000
(000) (000) (0.00)
000 000 000
178649 1,649.07 151165 1,374.22 1,236.80 1,099.3

650.00 650.00 650.00
0.00 0.00 0.00
0.00 0.00 0.00
189.78 0.00 0.00
0.00 0.00 0.00
53444 58680 44938
178649 164907 151165 137422 123680 1.0993
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3. Let's discuss the asset portion first. When construction is completed, the asset value is
reported as the total construction value, 2748 million. Depreciation starts from the same
year at the rate of 5% per year as we have assumed straight line depreciation over 20 years.

4. Receivables are short-term assets, which would be encashed soon. In this case, this is the
VAT, or value added tax, which has been paid during the construction, and will be refunded
in the year the plant starts selling electricity. The short term deposit starts accumulating
from year 2032.

Miion] 20307 20317 2032" 20337 2034”7 20357 20367 2037”7 2038”2039 2040”7  2041” 2042”7 2043”7 2044”7 20457 2046

Assets

Gross fixed assets 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845 274845
Less: accumulated depreciation 192391 206134 219676 233618 247360 261102 274845 274845 274545 274545 274845 274545 274545 274845 274845 274845 274845
Less: accumulated consumer contribution 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Met Fixed Assets 82453 68711 54969 41227 27484 13742 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Work In Progress 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Receivables (0.00)  (0.00) AN To RS (W T M To N ST 4T MMM 74 | (LT (M

Short term deposits 0.00 0.00 296.42 5 946.89 1,307.30 1,658.34 2,034.83 2438.03 2,869.25 3,329.87 3,821.33 434513 4,902.82 5496.04 6,126.48
Total 824.53  687.11 0869 88 054 07307 1.65834 20343 43570 869 98 g 4,34 49025 49604 6,126.45
Equity and liabilities

Equity 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00 250.00
Retained Eamings 82.23 179.06 30384 45869 63515 83432 105730 140834 178483 2188.03 261925 3,079.87 3567133 4095613 466282 524604 587648
Bonds Qutstanding 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Met Loans Outstanding 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Consumer Deposits + Decommissioning Reserve | 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Current Maturity 49230 258.06 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Total 82453 68711 55384 70869 88515 1.084.32 1.307.30 1,658.34 203483 243503 2,869.25 3,329.87 3,821.33 434513 4.902.82 5496.04 6,126.48

5. We will now investigate the liability portion. Investor's equity is liability to the project
company, which is reported in the first row. Cumulative retained earnings reported in the
operating account are transferred to the balance sheet and reported under the heading
“Retained Earnings”.

6. Outstanding loans from export credits and other sources, net of principal paid in that year,
are reported under net loans outstanding. Current maturity includes amounts due next
year, i.e., the accumulated stand by facility plus the loan amount due next year.

Well done! You now know how to navigate through the balance sheet.
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Activity 2d

Understand the outputs of FINPLAN - Shareholders’ Return

The next output from the model we will look at is the “Shareholders’ return in local currency”.

Try it:

1. Click on “Shareholders’ return in local currency”.

Shareholders' return in Local currency < > ¥
NPV project 2617.1513828869

IRR 13.225722312927 %

Million 2011 2012 2013 2014 2015 2016 2017

Initial quity 0.000 0.000 0.000 0.000 0.000 0.000 0,000
ErlTEs 0.000 0.000 -100.000 -150.000 -200.000 -200.000 0.000
Eq.Repayments 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Dividend 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Final disposal 0.000 0.000 0.000 0.000 0.000 0.000 0.000
Total flow 0.000 0.000 ~100.000 -150.000 -200.000 -200.000 0.000
Return on equity (3) 0.000 0.000 0.000 0.000 0.000 0.000 0.000

< >

2. Atthe top, it provides shareholders NPV and equity IRR. The concepts of NPV and IRR are
explained in the lectures. In this calculation, only the shareholders’ contribution, which is
equity, is considered as cost. Benefits include any equity repayments, shareholders
earnings (i.e., dividends) and the disposal value of the plant, which is basically the value of
selling the project in a specified year. The NPV is positive and the IRR is 13.23%. Both are
good, and the project is attractive for the investors.

3. The model also calculates the return on equity on annual basis by dividing the dividends
in that year to the total equity outstanding. Equity was injected for four years, starting from
the year 2013. After 2016, no equity was injected. Therefore, equity outstanding in the year
2017 and onwards is 650 million. The dividends in the year 2021 are 62.3 million Ringgits
and equity is 650 million Ringgits. The return on equity is 62.3 divided by 650, which is
9.58%. Next year the dividends increases to 91.5 million Ringgit. However, outstanding
equity remains the same at 650 million. Therefore, the return on equity is 14.1%.

ol 0" ottt ar  a” w ws’ mm we” wm” we am” s am” an”
Initial equity 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Fofpmmens 000 000 om om0 0o 000 om  om 000 [t bl 00 2]
Dividend 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 62.26 91.45 105.63 120.21 135.27 150.67 166.27 182.08
Taaton DM Gm o cmm) (e @0t 0o 00 000 oo 0w B G se ma wem e kerr 0
Return on equity (%) 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 9.58 14.07 16.25 18.49 20.81 2318 2588 28.01
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Well done! You now know to interpret the Shareholder’s return sheet.

Activity 3

Calculate the results of the model using financial ratios

A power project has many stakeholders, including the owners, investors, lenders, government and
regulators. FINPLAN calculates many financial ratios, which will be interesting for the various
stakeholders. We will now have a look at these ratios.

Try it:

1. Click on “Financial ratios”. This table will appear.

Financial ratios < > ¥

Million 2012 2013 2014 2015 2016 2017 2018

Warking capital 0.000 1.245 1.168 1.136 1214 1.230 1232
Pb oK oK oK oK oK oK

Leverage 15.000 1.903 3.286 4092 3.854 3.563 3024
Pb Pb Pb Pb Pb Pb

Equipment renewal 0.000 1.000 1.000 1.000 1.000 0.950 0.900
Pb Ok Ok Ok Ok Ok Ok

Gross profit rate 0.000 0.000 0.000 0.000 0.000 0.647 0.646
Pb Pb Pb Pb Pb Ok Ok

Debt repayment time 0200 40,000 40,000 40,000 40,000 6015 5272
Ok Pb Pb Pb Pb Pb Pb

Exchange risk 0100 0100 0.100 0.908 0238 0.747 1.000
Pb Pb Pb Pb Pb Pb Pb

0100 0100 10.000 10.000 10.000 0995 0932

Breakeven point

s . e e e e e

2. These ratios determine the financial viability of the project from the viewpoint of different
stakeholders. Click on the top right button to export the table to Excel. We explain three
ratios: Leverage, Exchange Risk, and Debt Service Coverage. The meaning behind these
ratios is explained in the lectures.

3. FINPLAN has a default value for each of these ratios and judges the computed value from
the project relative to that. If it is less than the default value, then it reports "Pb”, otherwise
“OK". We will explain these ratios one by one.
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Activity 3a

Calculate the results of the model using financial ratios — Leverage

Leverage is also known as debt equity ratio. It is especially important during the construction
phase and is a key indicator to evaluate the financing of a project from the point of view of a
lender. A lender will use this ratio to check if there is sufficient equity as an indication if the
shareholders are committed to the project and are covering some of the risk with their own
money.

It is simply calculated by dividing debt in a particular year by the equity outstanding in that year.
The higher this value, the worse the financial condition of the project from a lender’s perspective,
as the assets of the project depend more on debt, indicating a higher danger of bankruptcy. The
ratio is especially important during the construction phase, but also interesting during the loan
repayment stage.

In FINPLAN, the default debt equity ratio is 60:40, or 1.5. If the leverage in any year is greater than
1.5, it reports it as "Pb” (problematic) and "OK" if it is less than 1.5. If it is problematic, then equity
could be increased to bring the ratio down. However, what is acceptable to a lender will very much
depend on the type of project and the associated financial risks. The modeller thus needs to judge
what he or she thinks is acceptable to the lender. For example, 75 to 25, or 3. Debt and equity
would need to be adjusted accordingly to result in this ratio.

If we assume a debt-equity ratio for this project of 75 to 25, then we can see from the table that
it is not complied between the years 2014 and 2018. Therefore, this plan may not be acceptable.
More equity needs to be injected during the construction years. This will however influence many
other financial aspects of the project, for example the NPV or IRR.

Financial ratios < > | ¥
Million 2012 2013 2014 2015 2016 2017 2018
Working capital 0.000 1.245 1.168 1126 1214 1230 1232
Ph oK oK oK oK oK oK
Leverage 15,000 1.903 3286 4092 3.854 3563 2.024
Pb Pb Ph Pb Pb Ph
ERupmEnt fEneor 0.000 1.000 1.000 1.000 1.000 0950 0.900
Pb Ok Ok Ok Ok Ok Ok
DR 0,000 0,635 0.767 0.804 0.794 0.781 0.751
ok P P P P P P
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Activity 3b

Calculate the results of the model using financial ratios — Exchange Risk Ratio

The principal and interest of a foreign loan due in a year need to be repaid in foreign currency.
The company thus needs enough local currency to buy the required foreign currency based on
that year's prevailing exchange rate. The exchange rate varies over the years and may lead to
foreign currency risk. This ratio allows checking if in any particular year enough local cash is
available to repay a foreign loan and interest, applying that year’'s exchange rate.

FINPLAN assumes the default value as 1.2 or a security margin of 20%. That means the local cash
available in a particular year should be 20% higher than the local cash needed to buy the required
foreign currency to repay foreign loans and interest.

This ratio is important during the loan repayment period. It is clear that the financial plan of our
project is not acceptable to the lender, as the exchange risk ratio is less than 1 in 2017, and 1
thereafter. It can be improved by increasing the revenues, that means the electricity price, or
replacing some foreign loans or bonds with debt in local currency.

Million 2012 2013 2014 2015 2016 2017 2018
0.200 40.000 40.000 40.000 40.000 6.015 5.272

Debt repayment time

Ok Pb Pb Pb Pb Pb Pb

Exchange risk 0.100 0.100 0.100 0,908 0.238 0.747 1.000

Pb Pb Pb Pb Pb Pb Pb

Breakeven point 0.100 0.100 10.000 10.000 10.000 0.995 0932

Ok Ok Pb Pb Pb Pb Pb

Activity 3¢

Calculate the results of the model using financial ratios — Debt Service Coverage

Debt service coverage ratio (DSCR) is important for the lenders. They want to be sure that there
is enough cash on the account so that the principal and interest due in any particular year will be
repaid.

The default value in FINPLAN for this ratio is 1.3. Therefore, the security margin is 30%. That means
cash available in a particular year to repay debt (which is net income before paying interest, plus
new equity if there is any) should be 1.3 times or 30% higher than the debt payment (which is the
total of interests and principal amount due in that year).

Lenders monitor this indicator during the loan repayment period. If it is less than 1.3, then the
modeller should consider if adjustments are required. For example, an option is to increase the
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price or inject new equity. The DSCR of our project as shown in the table is below this threshold
between 2017 and 2022. Thus, the current financial plan of the coal power project may not be
acceptable to the lenders.

Million 2012 2013 2014 2015 2016 2017 2018

Debt equity ratio 0.000 0.656 0.767 0.804 0.794 0.781 0751
Ck Pb Pb Pb Pb Pb Pb

Debt service coverage 0.000 0.000 7.920 3.083 1.627 1.007 1117
Ok Ok Ok Ok Ok Pb Pb

ROR on rev asseis 0.000 0.000 -0.254 -0.468 -0.636 4424 5142
Clk Pb Pb Pb Pb Pb Pb

Well done! You now know how to interpret the results of different financial ratios.

Activity 4

If you are not getting the same results as shown in the above screenshots, you may want to
download a completed FINPLAN case study for this exercise from this link and restore it to
compare the values one-by-one.

Tryit:

1. Open this link and download the .zip file.

< 4 Download )+ [E] Extractall
/ Name

Completed Coal Demo

2. Navigate to the “Manage case studies” page. Your screen should look like this.

CCGT D i 09-03-202200:19:19 [T X FGiE
O emonstration e o x Manage case studies
A Manage case studies
o (] 1 08032022203723 I[] * X Create new case study
““ “ [ Hands-On Case Study 08-03-2022 20:56:44 I_D X

o Name of the case stud

-

™

|4

z

Create case study

Restore case study

o

3. Go to the “Restore case study” box and click on the green “+ Select case...” box.
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https://www.dropbox.com/sh/7tmogqqx5zhvmzx/AACsRtOGuVOvqlFXHq6AdGxqa?dl=0&preview=Completed+Coal+Demo.zip
https://www.dropbox.com/sh/7tmogqqx5zhvmzx/AACsRtOGuVOvqlFXHq6AdGxqa?dl=0&preview=Completed+Coal+Demo.zip

4. Double-click on the .zip file that you have just downloaded.

Restore case study

5. Click on the green “Restore” box.

Restore case study

/

Completed Coal Demo.zip

6. The completed hands-on exercise case study is now in your FINPLAN software. You can

now open it and go through the input data.

Manage case studies
[ CCGT Demonstration

[ CCGT Demonstration - Balanced

[ Completed Coal Demo

[ Democase 1

[ Hands-On Case Study

09-03-2022 00:19:19

09-03-2022 21:59:11

11-03-2022 16:12:20

08-03-2022 20:37:23

08-03-2022 20:56:44

Well done! You now know how to restore case study files.

n
D
n
D

(n

|4m

|4

|4m

|4

|4m

We have now finished our Malaysian coal power plant case study. In Hands-on 6, we will look
into a new combined cycle gas turbine (CCGT) case study.

CCG 2021

Page |18



	Learning outcomes
	Activity 1
	Activity 2a
	Activity 2b
	Activity 2c
	Activity 2d
	Activity 3
	Activity 3a
	Activity 3b
	Activity 3c
	Activity 4

